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SECTION - A

Answer any three of the following each in about 200 words :

(a}
{b)
{c)
{d)
(a)
(b)

Limitations of Historical accounting in inflationary conditions.
Appointment of auditor for a company.

Valuation of the perquisite of car under the Income Tax Acl.
Reconciliation of cost and financial accounts.

What is a variance ? Indicate its significance to management.

Mr. Kiran is employed with Surya Tubes Ltd. as a Sales Manager. He submits
following details regarding his emoluments for the year ending 31. 03. 2002.
You are required to compute his income from salaries,

Rs. (p.m.}
i Baslc Salary 30,000
i) Dearness Allowance { noel forming part of salary ) 7.500
flii} City Compensatory Allowanee 2,500
{ilvi House Rent Allowance 10,000
(v} Rent paid by Kiran 12,000
{vi) Children's Hostel Allowance lor 3 clifldren 600
(vli) He is provided with a car of 15 hp. with chantffeur. The

car is used for both private and olfice work.

(vil) The employer has given hbn & loan of Rs. 6,00,000 @ 4%

interest for purchase of a flat under construction. The loan
has been taken on 01. 12. 2001 and the repayment is yet
to start,

(ix}) He was allowed to use a video camera and a laptop by
the employer. The employer has purchased these
assets at Rs. 45,000 and Rs. 1,25,000 respectively on
22, 02, 2001.
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accounts )

(a) PR (Varlance ) aonded 7 ASFEROLO, G50 HTY, T KOUR.
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ca. ( sorert )
(i} Tepw Kowe ( Basic salary ) 30,000
() 2, (Rowds nainT ) 7,500
(i) =no XoTens 33, 2,500
V) % wan e, | 10,000
(v) S0 o #ou TR 12,000
(Vi) 30m°0 3 DY TR o Dedr 600

(vii)  &I0r 18 hp o3¢, TR, B T0T BB EABRND, ¢ MO, ST
%088, TIML WLHLT® FODFER, Fdeehmoz 8.

(vili) 30mORON ¥O IRdesTy Tn. 6,00,000 373, 4% wR, 0303
B33, 008 edebmy, 3Ty en memh 4k hE T mOTRY
1. 12, 2001 50T 8L 003.0. SOTIRINTY, *RA, T00RE
tdesuhcl.

(x)  oocdat BTy ), o3Tmds) wwdclecAze: 0m0N0  Zndosc:
R, AT Y. APrivRy, &30 §mA 8r. 45,000 T8, Oa. 1,225,000 nent
22. 2. 2001 ot DoeHum 8.
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Discuss the various techniques used for segregating fixed and variable
elements in a semi-fixed cost.

A Ltd. and B Ltd., agreed to amalgamate and form a new company C Ltd.
which will take over all the assets and liabilities of the two companies, In the

‘case of A Ltd. the asset and liabilities are to be taken over at book value

for shares in € Ltd. at the rate of 5 shares in C Ltd. at 10% premium
( i.e. Rs. 11 per share} for every four shares in A Ltd.

In the case of B. Ltd. .

) The debentures of B Ltd. would be paid off by issue of an equal number
of debentures in C. Ltd. at a discount of 10%.

(i} The holders of 6% preference shares of B Ltd. would be allotted four

7% preference shares of Rs. 100 ¢«

shares in B Ltd.

(iifj The equity shareholders would be allotted sufficient shares in

wh in € Ltd. for every five preference

C Ltd. to

cover the balance on their accounts after adjusting asset values by

reducing plant and machinery by 10%

debtors.

and providing 5% on Sundry

The summarised Balance Sheets of the {wo companies prior 10 amalgamation

were as follows .

A Ltd. B Ltd.
Rs, Rs.

Equity share capital of Rs. 10 each 4,00,000 5,00,000
6% Preference Shares of Rs. 10 each — 3,00.000
4% Debentures - 2.,00,000

Profit & Loss A/c 5,.00,000 —

Contingency Reserve 50,000 —
Creditors 75,000 30,000
10,25.000 13,90.000
Plant & Machinery 8,00,000 8,00,000
Stock 65,000 60,000
Debtors 95,000 5G,000
Profit & Loss A/c e 1,40,0G5
Bank 65,000 40, 0006
10,25,000 10,890,000

Show the journal entries in the books of A Ltd.

Balance Sheet of C Ltd.

and B Ltd. and show the
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Qoo nvoh enEdxeAd.
i) ' dasdats 6% =8, BeTnPEy, [d 2B HE,S Besonent ‘A’ dodneR %
Be0rt de. 100 U038 Ty, 7% B3, seddﬁmh aozsmhd
(i) ezC s, aBnds), TOTRR 8T @A TP NS oo, Ty, Xy @ony Roeed
10% m::t a:bsér{eé e 5% X W, 3035 ‘8 @mawn mrmaﬁaﬁﬁ 843,83
aﬁecbrimh moennd.
SUBE FOTAN wATy,ME T0F, ST Tod T, vl B8R 85 dunToss.
o Onosd 2 s
e, oo
6&6 L3 Beoy weminy (3 58 2et 0. 10 Tod) 4,000,000 5,00,000
6% ®8,8 Beonien (I3 aSec:b 3e. 10 god) — 3,00,000
4% Dlcaddenish o 2,00,000
Tyl BB, 8y, =3 5,00,000 —
BRB,B Q0eTN 50,000 —
Zednes ( Creditors ) 75,000 90,000
10,25,000 10,90,000
m@ﬁd RoB, CCE, 8,00,000 8,00,000
oe 65,000 60,000
aesridh. ( Debtors ) 95,000 50,000
oS W, &F, 08 — 1,40,000
o, 0838 AnTd 65,000 40,000
10.25,000 10,980,000
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(a)
(b)
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Explain in brief the special points in audit of a general insurance company.

Farukawa Ltd. produces two products and its budget for 60% level of activity
for the year is given below :

Particulars Product ‘A’ Product ‘B’
Rs. Rs.
Raw material cost per unit ' 7-50 3.50
Direct labour cost per unit 4-00 3.00
Variable cost per unit 2.00 1.50
Fixed cost per unit 6-00 4.50
. Selling price per unit 20-00 15-00
Units Units
Production and Sales 4,000 6,000

The managing director not being satisfled with the projected results as stated
above, referred the Budget to the Marketing Manager for improving the
performance. The Marketing Manager proposed that the sales quantity of
products A and B could Be increassed by 50% provided the selling prices
were reduced by 5% in the case of product A and by 10% in the case of
product B. The price reduction should be applicable to the entire quantity of
sales of each of the products.

() Present the overall profitability under the original budget and the revised
budget after taking the increased sales into consideration.

() Find out overall Break-even Sales under the original budget and the
revised budget. '
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SECTION -B

Answer any three of the following, each in about 200 words :

{a)
(b)
(A

(d)
(a)
{b}

Elucidate briefly the recornmendations of Chore Committee.
Distinguish clearly between Negotiation and Assignment.

“According to Walter's Model the optimum payout ratio can he either zero or
100%.” Explain the circumstances when this is true.

Explain the operational policies of ICICL.
Explain the concept of Economic Order Quantity.

'S. Ltd. has following Capital Structure : Rs.
Common Shares ( 2.,00,000 Shares ) 40.00,000
6% Prefe;ence Shares 10,00,000
8% Debentures 30,00,000

80,00,000

The common share of the company sells for Rs. 20. It is expected that the
company will pay next year a dividend of Rs. 2 per share which will grow at
7% forever. Assume 50% taxation.

() Compute a weighted average cost of capital on existing capital structure.

() Compute the revised weighted average cost of capital if the company
raises an additional Rs. 20.00.000 debt by issue of 10% debentures:
This would result in increasing the expected dividend to Rs. 3 per share
and leave the growth rate unchanged, but the price of the common share
will fall to Rs. 15.
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Explain the important sources for financing long term investment.

From the following information you are required to estimate the net working

capital :

Cost per unit

Rs.

Raw material | 400

Direct Labour 150

Overheads ( Excluding Depreciation ) 300

Additional information :

Selling price ) Rs. 1,000 per unit
Output ) ' 52,000 units
Raw material in stock Average 4 weeks
Waork in progress { assumed 50% completion

stage with full material consumption ) Average 2 weeks
Finished goods in stock Average 4 weeks
Credit allowed by suppliers Average 4 weeks
Credit allowec to debtors | Average 8 weeks
Cash at bank expected to be o Rs. 50,000

Assume that production is sustained at an even pace during 52 weeks of the
year. All sales are on credit basis.
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Write a note on Non-Performing Assets in banks.

A product is currently manufactured on a machine that is not fully depreciated
for tax purposes and has a book value of Rs, 70,000. It was purchased for
Rs. 2,10,000 twenty years ago. The cost of the product is as follows : °

Unit cost ( Rs. }

Direct Labour 28.00
Indirect Labour 14-00
Other variable overhead 10:50
Fixed Overhead 17.50

Total 70.00

In the last year 10,000 units were produced. It is expected that with suitable
repairs the old machine can be used indefinitely {n future. The repairs are
expected to average Rs. 75,000 per year.

An equipment manufacturer has offered to accept the old machine as a trade-
in for a new equipment. The new machine would cost Rs. 4,20,000 before

allowing for Rs. 1,05,000 for the old equipment. The projected cost associated
with the new machine is as below :

Unit cost { Rs. )

Direct Labour 14.00
Indirect Labour 21.00
Other variable overhead 7-00
Fixed Overhead 22-75

Total 64-75

The fixed overhead cost is allocation from other departments plus the
depreciation of the equipment. The old machine can be sold for Rs. 50,000 in
the open market. The new machine has an éxpected life of ten years and a
salvage value of Rs. 20,000. The current income tax rate is 50%. For tax
purposes, the cost of the new machine and the book value of the old machine
may be depreciated in ten years. The minimum required rate is 1b%. It is
expected that future demanc .: the product will stay at 10,000 units per year.
Should the new machine be purchazcd 7 Ignore capital gains tax.

PV of annuity for nine years is 5759 and PV for tenth year is 0-386 at 10%,
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SECTION - A
1.  Write short notes on any three of the following in not more than 200 words each :
(a) Goal Displacement
(b) Project Organisation
{c) Leadership Styles
(d) Power Tactics.
9. Critically appraise the systems approach to organisation.

3 What is the concept of Organisational Change ? Why most of the people in the
organisation resist change ? How do you think the resistance to change can be

avercome ?

4. Define and distinguish between Theory X and Theory Y of motivation.
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SECTION - B
5 Write short notes on any three of the following in not more than 200 words each :
a) Workers' Education
(b) Scope of Industrial Relations
(c} Outside Leadership in Indian Trade Union
{d) Labour Court.

6. Has collective bargaining flourished in India ? If not, what are the reasons ? How

can you make it work in India ?

7 Discuss the preventive measures for industrial disputes at the Unit level and

beyond the Unit level.

8. “High absenteelsm and turnover are the indicators of poor industrial relations in

Indian Industries.” Comment.
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